wwﬂﬂ!dwﬂ:lug ' (gt iffnn gt o 7 :
Total No_ ol Questions : 1K) | fedal S tof Frindadi Fagas

e ; nfura
Subject : Mathematics

vy ;3 yu | [rts. . 75
lime 3 hours | [ Maxisnum Marks : 78

. i -

B

wz 1 Bt wer e wifono |
Note : Attempt all questionns,

A LR ARCEL LT )
Graph paper is required.

wrary FAder NG rl@&{ Foga ) sepida -l
General Instructions 6&; ol culeulntor i« not penmitted.,
@% we e 1 ¥ A wve ¥ avr (s1) o agherehn am, e
S () o vt @) yid am mave (w4 onaam b %
WA ye W1 s e ¥y

Question No. | has three parts. In Pan (A) Multiple choice
questions, in Part (8) Fill in the blanks and in fan (C) Write
true/ fulsc are given, Each question carries 1 mark.

(iti) 91 AHIE 2R 6 wh wfverqaata s § | v wva m 2 #F%
amifen ¥

Question Nos. 2 10 6 arc very shon answer type questions.
linch question carrics 2 marks,

-2C+
S P.T.0.
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(iv) WO IR 7 Q 1 s SHfrergEa W § | 9 W W3 bl
ymaifea ¥
Question Nos. 7 (, 10 arc very short answer type questions.

Each question carricg 3 marks.
(v) W #HiE 11 @ 14ﬁagzaﬂumt|uﬁ$mﬁmﬁm
famea & | Wl Wy ¢ 4 3 omafed €)

Question Nos. 11 to 14 are short answer type questions. Each

question has an internal choice. Each question carrics 4 marks.

(vi) W HiH 15 T 16 gzl W § | ek W At e
® 1 W W WS 35 oyt €
Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.

(vii) 1 =% 17 TH 18 Gefarirg wea € | wedes oA A niafies fasea
¥ | IAF W W 6 i armafn €
Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

oy T-1 (m—a)aﬁmﬁﬁm N
(Part-A) Choose m@rite the correct option :
\Q‘Zr

() ﬁP(x)§%2~3x+6 R, A P2) A B [
(37) 4
(¥ 6
(%) 8
A
If P(x)= 2x*-3x + 6, then the value of P(2) will pe -
(a) 4
(b) 6
() 8
(d) -4
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LR L PR ISR L R T — &
(3 0
(@) |
(q) 2
(%) 4

The value of discriminant of gyadratic equation 4x* - dx + | =0

will be :
(a) O
(hy |
(c) 2
(d) 4

(iii) fa=g (-2, 4) form aqata ¥ #m 2 (1)

( 37) wum <qua
() feda squta

(3) <194 7>
Point ( *?.@\?ﬁll which quadrant 7
Q

(a) First quadrant
(b) Second quadrant
(¢) Third quadrant
(d) Fourth quadrant
(iv) sin30" > cosec 30° T WA T [1)

(3 |

(# 2

() -1
() -2
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R
The value of sin30° X Coseg 30° will be :
(a) 1
(b)y 2
(c) -
(d) -2
(v) e QA T G S R ey gt SR R H 0 E, @ Afn
U feran A e - Y
G T |
(=) farm
(®) 3w
(3) =R

If in fixed deposit the interest is calculated half-yearly, then rate of
interest per annum will be :

(a) double
(b) three times
(¢) half
(d) four tim%é\\Q s
X
we-1 (m—a)ﬁz@ﬁaﬁiﬁfﬁm :
(Part-B) in the blanks :

() (J§+l)3ﬂ1(£—l)wmmmw_-____%| [1]
The arithmetic mean of (JS + l) and (Jg - l) is

(i) ARa:b:c @ MAATIR ____ &M [1]
If a: b : c,then the mean proportional will be

(i) A I TR TR E, AR ITHR _ weE [1]
Two circles are congruent, if their ______ are equal,

(iv) tan(90°— 33°) &1 9H ______ﬂ?ﬂ%l (1]

The value of tan(90° - 33°) is
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") émﬁ@rﬁﬂ@gm\__ﬁ_mgl (1

The sum of two even numbery ; always
yE-1  (WUE-W) ¥ sigal e fafay

(Part-C) Write true or false :

() migaumErEREl S (1

Circles of all sizes are similar

(i) x-37 T Feera forlt forg 0 y iy v @1 £15 (1]

The y-coordinate of any pojp, on x-axis is zero.
(#id) ﬂﬂﬁ?ﬁﬁﬁﬂ%l [1]
A cube has 7 edges.

(iv) ﬁmmmmzﬁm%uﬂ [1]

Service tax is an indirect tax.

) R P 3 A syt 1 dm A e A S A d S [1]
In a triangle, tfg@m of any.two sides is less than the third side.
uy-}lz Az (2+ ) (4§ : (5 +X) 8, 9 x 1 WA 7@ Ffew (2]
If(2+t)§$‘®l- x) : {5+ ), then find the value of x.
-3 wuu 3 faum demsii w1 sivea T Ff . 2]

Find the average of first ten odd numbers,

-4 fag (6, SJaﬁq_ﬁiﬁgﬁqﬁmaﬁﬁqr
. 2
Calculate the distance of point (6, 8) from the origin ?

B

qyﬁs T 1 Fif tan15° _"_- sin3]° 2

cot75° cosS59°

fanl5®  sip3pe
cot75° cos 59°

e,

S-2C+

Find the value of :
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.,

trg/l‘l

10)

2
A"~5.\'+6:0$Tﬁﬂmqgwmqﬂﬂﬂﬂ,l (2]

Find the sum and product of the rooyg of

2-5x+6=0

fag Hf fE (2 +42 + 4+ RO 1) A o A R AT A

?I

13)

the remainder
Prove that on dividing (2 + 47 +-3p.% )by 0 )

is zero.

maﬁﬁqﬁsﬁﬁﬁamﬁfmﬂmﬁmmm4mwmtl (3]

Prove that the sum of two consccutive odd numbers is always a

multiple of 4.

e e Fer % aTuT R w22 Fef, ¥ 1 A Aew I 10 T 2,

A ST T AT I | (3
\\Q > N . .

The circumfere f the base of a right circular cylinder is 22 cm. If the

height of t Qlint;ler is 10 cm, calculate the volume of the cylinder.
$
Tt Wl 307 = [1x + 10 = 0 A &« FfSw) (3]

Solve the quadratic equation 3x" — 11x + 10=0.

39 WA W@ w1 gHE J@ Fwifae frae waoml % ¥ A wn fag
(6, 0) & Tt A R ) ' [4]

Find the equation of that straight line which passes through the point

.\.

(6, 0) and whose slope is %

OR
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I1-12

We-13

T AR AT MR 5 vt W w1 o4 el # 79 g A A

’aﬁit'ﬂﬁ ﬁqiﬁ;ammﬁﬁmw% .
= 1 2 3 4
e U I H uTRT (e ) 4 | 3 2 1 0

o< T U Ft A0 qen fH i N Hen ¥ gy g =i

A man filled 5 liters of petrol in the fyel tank of his vehicle. The table

below shows the five days and the peirol remaining on those days :
2 3 1 4] 5

Day 1

Quantity of petrol remaining (in ﬁ;;) 4 3 2 1

Draw a graph between the petrol remaining and number of days:

fog Fif fF—" T W B § wuf o i 9w &1 e % il % A
& TR AT 1"’

Prove that-"In a right-angled triangle, the squaré of the hypotenuse is

(4]

equal to the sum of the squares of the other two sides.”
aveET
& _or
K\Q
. & L O SR qR STinat 3 @ 6 gl 24 A,

%.aﬁmaa%g%&fmﬁm.

The radius g‘a circle is 20 cm. The distance between two equal and parallel
chords is 24 e¢m. Find the length of chord.

-

e areolt it wiftaet 3@ Sifa . (4]
i | 0-10 | 10-20 | 20-30 | 30-40 40-50 | 50-60
smafa | 12 24 32 10 5
Find the median‘of the following table -
ClassInterval | .19 | 109 | 20-39 30-40 | 40-50 | 50-60 |
Frequency 1 i2 24 32 10 5
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Sreray
OR
Fr=1 s} 28} s v o )
| 010 | 1020 | 20030 | 30.40 | 40-50 | S0-60
amgfw | 4 5 16 12 3 2
Find the mode of the f‘ollowing tuble ;
E'“’"‘ eyl | o0 [ 1020 | 2030 | 30-40 | 40-50 | 50-60
Ll*‘rcqnoncy 4 s 16 12 3 2
UoI-14 2 A4, 1
o areh 64Wﬁ%mmm7ﬁmmwm‘$?ﬁﬁaﬁ
A big sphere is made b :Ming
) r’ . ade by -""-“'”b down 64 small spheres, each of radius
ecm. Find radius of the big sphere,
rerar
OR
AR T VT ¥ syt
1 319 12 ¥, e S g i
3R s i iy tﬁ?@ww{piw

If diameter of the b
a i
o sc of a cone jg 12 em and its heighl is 8 em, t} find
1¢ total surface arca and volume of the ¢ o
one,
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3reyar
OR

[ ABC ¥ R g8 & @ RIS, fei AB = 6 T, LA = 45°,
/B =60° & 1T ¥ g+t fafaw)
/B = 60"

. = 45°,
Construct a circumcircle of AABC, where AB =6 ¢cm, ZA

Write the steps of construction.

I(HI
aﬁnﬁmhﬁa%ﬁzooﬁ,maﬁaﬂsaﬁ%mm

m@mmﬁmaﬁﬂ?ﬁ%aﬁmﬁmsa—éqﬁﬁaﬂﬁmﬁ SEtUIIIE
gt ? o

Vasim opened a recurring deposit account in Punjab National Bank. He
6% per annum,

(]

deposits Rs. 200 per month for S years. 1f rate of interest is

find the amount he will receive at the time of maturity.

uar

OR

fercttar = 2013-2014 § TF T Fear H) Fo At 3 3,60,000 F. Gt |
IE 20,000 ¥. aﬁaqs@?qﬁ'&ﬂ F1 aifter AT qen 4,000 T. WAHE WA

uﬁmﬁfaﬁm@&m%m&mﬁwﬁfuwﬁﬁwﬁm1,00,00075.
R @ O] ST |

3T cﬁ@‘( feTaR € -
®. T qr AFETH T |
1. 12,00,000%. 5 HE AT TE 1
2. 12,00,001 % @ 5,00,000%. 9% S 10%
3. 5,00,001 & & 10,00,000 . 7 Y 20%

o SHfafr, 37 ST H 3% e o s R

The income of a government employee in financial year 2013-2014 was

Rs. 3,60,000. He deposited Rs, 20,000 as yearly premium on life insurance
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policy and Rs. 4,000 €Very mong, in General Provident Fund. 11 @

maximum of Rs. 1,00,000 can be inyested jn any type of saving o qualify

for tax rebate, then calculate the Payable income (ax.

The rates of income tax are as follows :

Sl No. Tax Limits Rate of
Tax |
1. |Up to Rs. 2,00,000 NIL
2. Rs. 2,00,001 to Rs. 5,00,000 10%
J 3. (Rs. 5,00,001 to Rs. 10,00,000 20%

In addition, a 3% education cess has to be paid over the income tax.

wyh fag Fifor %
cosf + 5in(90°—0) =2c¢ot(90°—=0)
sec(90° —0) +1  cosec — 1 16}
P T,
rove that Q’Q\ '
N\
cosfd SO0 =0 _ 5 cot (90°—0)
sec(%{b& 0) +1 " cosech —1
@$
3rerar
OR

éasmﬂgéwﬁgmfaﬂammﬂg%m@ 611'1?{%%@11'{6@:13%@
%leW@60°WWW%i§EﬁmWWl

A tree breaks to storm and the broken part bends so that the top of the tree

touches the ground making an angle 60%with it. The distance between the

foot of the tree to the point where the to

Find the height of the tree,

p touches the ground is ¢ meters
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M VR A ¥, TR F AR gy ,. 5., 5, E 19 TAF 1 %1 9Id
TR 1 T WERR w1, 2, 3 ®, N g it i
S, + S, =28, (6]
Sums of » terms of three arithmetic progressions are S, S,, S, respectively.
If first term is 1 for every progression and common differences are 1, 2,3

respectively, then prove that S, + 8, =28,
e
OR
gha o qd A oy AW O F Y I R ot 7w T TR A A WO
¥ g F N oIEh AR 9 W [ W wdAE g TR
5 years ago, 1 was three times as old as my son. Ten years hence, I will be

twice as old as my son. Find my present age and my son’s present age.

s\\@& T
‘&‘@
O
N\
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